Function Transformations Part 2 Practice name. S &E l

Exercises
For #1-10, suppose that f(x) = =*. Match ench of the numbered functions
on the loft with muwndhmimmtbrﬁlthdkapﬁ.

< L) f5)+2 D A) (-2
2)3(x) T B) }*
; 3) f(-0) A c)y#-2
| W) -2 & D) =* +2
)@ B E) (§°
6.) f(3z) H F.) -
n1@-2 C G.) (z-2)
8)-f@ F H) (32)°
9) f=+2) Y 1) 3

0) /5 € L) o + 2
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Describe the transfosmetion appled to the porest fumction (1)
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MmmrmMWedbyg‘x,iwnqwmmI:xv = 27 g3 the porent function. Write g(Xx) in
lcmuo//(x)avdeo!ou‘dskﬂchdttho{gu). The function [(x s aiready graphed for you.
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3. Match esch function with its graph.
Ba)y=vx-2 down?-

AD) ym v=X +2 Foflect 4y, VP%

DO y=—VEFZ reflecr, eft?

(@) ym—/Tx=2) reflect x, refled 4, right 3
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Functon Transformations Part 2 Practice name: S

2. Explain how to transform the graph
of y = /X to obtain the graph of each

funclion. Siste-ihe-demein-and-range in
et each case. 9
£ .,y_,m rlqh* q,h‘kh bﬂ
o’ b) y=v=X+8 reflect A-0x, Lo

on O y=-VIE iz conpress 0.2., W x-S
1
d?':*-ky-g\/m_q llﬂ’o, Uézj(zrsﬁ 'dblmJ}

45 Describe the transformations 10 the parcat function » - [ to create the following fanctions.

L )'S‘l-q 2 ,-H03 '
Traasformation: r‘ghf * Tndu-lll-:\)r’ts

3. y=2x+) ¢« y=3 dch \,.3'3
Transformation: UI'} % Trassformation: 5*'
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